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public static boolean chkPrime(int prime) {
int divider, nDivided;
nDivided = 0;
for (divider = 1 ; divider <= prime ; divider = divider + 1) {
if (prime % divider == 0) A
nDivided = nDivided + 1;
+
+

if (nDivided == 2) return true;
return false;
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public class PrimeMethod {
public static void main(String args[]){

int prime;

for (prime = 2 ; prime <= 1000 ; prime = prime + 1) {
if (chkPrime(prime)) {

System.out.println(prime + "OOOOOOO");

by

¥

prime = prime + 2;

}

// 000000 oo0oooogn
public static boolean chkPrime(int prime) {
// chkPrime() OO 0ODOON

}
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class Ref {
public static void main(String args[]) {
int a, bl] =
a=2; b[2] = 3;
System.out.println("Before :

func(a, b);

System.out.println("After

}

new int[10];

a

. a

static void func(int c, int d[])

System.out.println("Before :
c =5; d[2] = 8;
out.println("After

System.
+
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Before : a
Before : c
After C
After a

2 b[2]
2 d[2]
5 d[2]
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class Recursive {
static public void main(String[] args) {
System.out.println("1+2+...+10 = " + sumUp(10));
}
static int sumUp(int num) {
if (num == 0) return O;
return + num,

}
}
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class Recursive2 {
static public void main(String[] args) {
System.out.println(pow(3));
}
static int pow(int num) {
if (num == 0) return 1;
return +

}
}

class Recursive3 {
static public void main(String[] args) {
System.out.println(mul(4, 3));
}
static int mul(int x, int y) {
if (x == 0) return O;
return + v,

}
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